Algebra

Unit 8
Liner Equations Part 2
( Slope-intercept Form, Standard Form, Graphing Lines, Point-Slope Form)
Name: ____________________

Teacher: _______________

Period: ________

Equation of a line Discovery Activity

I. Define the following terms

Slope:

Y- intercept:

[image: image1.emf]II. For the following equations, fill in the table of values to graph the equation (use a ruler). Then find the slope and y intercept of the graph.
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Look back at the equation and the slope of each line. What do you notice about the slope? What do you notice about the y – intercept? Can you make a prediction about how to use an equation to graph a line? 
Can you use these predictions to graph the following equations without tables?
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Slope Intercept Form of a Line

You have just discovered another way of graphing!!  
This form is called slope-intercept form.  It is written y = mx + b.  


M stands for 
 and B stands for 
.

Directions: For each equation below, write the slope of the line and the y- intercept.
[image: image179.wmf]
Find the equation of the line that has given slope and y-intercept.

1. m = 2 and b = 7 




2. m = -3 and b = 10

3. m = 10 and b = -3 




4. m = -7 and b = 11

5. m = 4 and b = -20 




6. m = -12 and b = -8

7. m = 6 and b = 6




8. m = -5 and b = -10

Now… Lets use this knowledge to graph some lines….
	Slope-intercept form
	Slope
	y-intercept
	graph

	1) 
Y = -5x + 6
	
	
	[image: image138.emf]


	2) 
Y = ¾ x + 1
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	3) 
Y = -1/4 x + 3
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	4) 
Y = -2x - 5
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	5) 
Y = 3/2 x - 1
	
	
	[image: image142.emf]


	6) 
Y = -6x - 1
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Finding equations from graphs
[image: image144.emf]For each graph, find the slope, y-intercept, the equation of the line that would be drawn through the points on each graph and three points on the line.

1.
Slope:

Y-intercept:


Equation:
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2.
Slope:

Y-intercept:


Equation:
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3.
Slope:

Y-intercept:


Equation:

[image: image147.emf]
4.
Slope:

Y-intercept:


Equation:

Is the Point a Solution of the Line?

Not all points are solutions to a particular line.  You must check to see if it belongs.

How do you know if a point is a solution of a line?

1.















2.














3.














4.














Example 1:  Is (2, 5) a solution of y = 3x – 10?

Example 2:  Is (-4, 7) a solution of y = ¾x + 10?

Example 3: Is (3, -6) a solution of 2x – y = 12?

Example 4:  Is (-8, -12) a solution of ½x + ¼y = 7  

Slope Intercept Worksheet

I. Which of these ordered pairs is a solution of the given equation?
1. 2x  + y = -6 

a.  (-8, 4)   b.  (-1, -4)   c. (5, -16)   d. (9, 1)

2. -3x = 2y 


a.  (1, -1)   b.  (7, 10)    c. (-2, 3)    d. (5, 5)

3. x +y = 8                        a.  (7, 1)    b. (-3, 11)   c. (2, -9)    d. (4, 4)
4. y – x = 7                        a. (1, 6)     b. (-1, -6)    c. (-1, 6)    d. (1, -6)
II. For the following equations, fill in the table of values to graph the equation (use a ruler). Then find the slope and y intercept of the graph.
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III. Find the slope-intercept form of the equation of the line for each slope, m, and each y-intercept,

1. m = 5, b = –3
2. m = –1, b = 4
3. m =  
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, b = –7
4. m = 
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, b = 0
IV. State the slope and y-intercept of the graph of each equation
1. y = –2x + 5
2. y = x – 8
3. y = 
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4. y = 
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V. For each graph, find the slope, y-intercept, the equation of the line that would be drawn through the points on each graph and three points on the line.

[image: image154.emf][image: image155.emf]1.                                                                         2. 
VI: Using the slope-intercept form  (y = mx + b) , graph the following lines.
                y = –2x + 5                    




y = x + 3
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[image: image160.emf]                y = –3x    






y = 4x 
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y = –
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y = 
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Slope Intercept Homework

I. 1-4 Answer the following questions relating points and linear graphs

1. Identify the point that lies on the line          y = 4x+ 3.
A. ( -3, -15)

B. (3, 15)

C. ( -3, 15)

D. (3, 15)

2.Identify the point that lies on the line           y = 3x - 1.
A. ( 2, -5)

B. (-2, 5)

C. ( 2, 5)

D. (-2, -5)

3. Find y, if (4, y) is the solution of the equation y= 4x - 2.
A. -4

B. 14

C. 16

D. 9

4. Find y, if (- 5, y) is the solution of the equation y= 5x+ 7.
A. -17

B. -18

C. -19

D. 18

II. For the following equations, fill in the table of values to graph the equation (use a ruler). Then find the slope and y intercept of the graph.
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III. Find the slope-intercept form of the equation of the line for each slope, m, and each y-intercept,

1. m = 3 , b = –2

2. m = –5, b = 9

3. m =  
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, b = –6

4. m = 
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, b = 0
IV. State the slope and y-intercept of the graph of each equation
1. y = –3x + 14

2. y = x – 9

3. y = 
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4. y = 
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V. For each graph, find the slope, y-intercept, the equation of the line that would be drawn through the points on each graph and three points on the line.
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1.                                                                         2. 

[image: image172.emf][image: image173.emf]3.                                                                          4.

VI: Using the slope-intercept form  (y = mx + b) , graph the following lines.
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                Y =-3x + 3
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                y = 4x - 1   






y = -2x + 3 



y = 
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y = -
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Special Cases:
	Y = 3
	
	
	


	X = -2
	
	
	



Name ______________________________ Date ______________ Period ________

Graphing with slope and y-intercept

1.  
y = 2x + 4

m = 

b =  



2.  
y = -4x – 4


m= 

b = 



3.
y = 
[image: image32.wmf]1

2

x – 1


m = 

b =  

4.
y = -
[image: image33.wmf]2
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 x + 9


m = 

b = 



5.
y = 5


m = 

b = 


6.
y = 2x


m = 

b = 


7. 
y = – 5x + 2

m = 

b = 

8.
x = -6


m = 

b = 



9.
y = x


m = 

b = 

10.
y = -x + 8


m = 

b = 



11.
y = -8 + x


m = 

b = 


12.
y = .25x – 2 


m = 

b = 
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Cell Phone Scenario
A certain cell phone package charges $39 even if 0 minutes are used during the month. Each additional minute of talk time adds $.07 per minute. 

Create an x-y chart to represent this function:

	x

(minutes)
	y (dollars)

	
	

	
	

	
	

	
	

	
	

	
	


· Where is the y-intercept on this graph? What does it represent? Explain your reasoning.
· Is this a linear function? How do you know?
· Is there a constant rate of change? If so, what is it?
· Would there be a point at the origin (0, 0)? Explain your reasoning.

· What would the graph look like?
(See M-7-4-3_Cell Phone Graph 1)
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Where is the y-intercept on this graph?
If we talk for 0 minutes, how much do we owe?
What is the slope of this line, or rate? How do you know?
Can you write a rule for this function?
What would the slope represent in terms of this real-world context?
If we created an x-y chart, why do we have to include zero in the chart?
In order to extend the values of x and y, what values could be used?

Graphing a Line Given Slope

Name







and Y-Intercept Scenarios Notes
The dental insurance plan will cost you a flat rate of $140 for the year, plus a co-payment of $20 whenever you have to see the dentist. 


Graphing a Line Given Slope

Name







and Y-Intercept Scenarios

1. The math club is having a bake sale to raise money for the Regional Math tournament. The make a $5 profit for each cake sold. The Booster club gave a $100 donation.


1.                                                                                                   

2   Catrina is participating in the school math(a(thon to raise money for the end(of(year field trip.  Her mother is donating $10 to get her started.  She will receive $2 for every problem she answers correctly.

Graphing a Line Given Slope and Y-Intercept Scenarios

3. Sally is on the bowling team and needs to practice for the big tournament. The shoe rental is $2  

    and the cost of each game is $3.
4 . Lauren called Down the Drain plumbing company. They charge a $25 service call fee plus $15 per hour.

Graphing a Line Given Slope


Name __________________________

and Y-Intercept Homework


Date  _________________ Period ____ 

At the West Texas Balloon Festival, a hot air balloon is sighted at an altitude of 400 feet and appears to be descending at a constant rate of 20 feet per minute.  Spectators are wondering how the long it will take for the balloon to reach the ground.

1. a.  Graph the relationship on the grid.  



b.  What is the slope of the line?  How is the slope represented in this situation?


c.  What is the y(intercept?  How is the y(intercept represented in this situation?


d.  How many minutes will it take the balloon to land?


e.  How long does it take the balloon to reach an altitude of 20 feet?

Graph each of the following given the slope and y-intercept.
2.  m = (1, b = 3 
3.  m = 
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5

; b = 0
4.  m = (
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, b = (8

5.  m = (1, b = 3 
6.  m = 
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; b = 0
7.  m = (
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, b = (8

8-11.  There are four types of slope. Name and sketch a graph of each.

Given the following equations in slope(intercept form, state the values for the slope and y(intercept and graph.  

12.  y = (
[image: image41.wmf]2

1

 x + 2 


13.  y = 2x- 1


14.  y = 
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 x+  5


15.  y = (
[image: image43.wmf]2
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 x + 2 


16.  y = 2x- 1


17.  y = 
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 x+  5

18.  y = (
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 x + 2 


19.  y = 2x- 1


20.  y = 
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 x+  5
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Use the grid paper and transparency line to graph the following equations and then to make transformations to those equations.

1.  y = 2x + 4

Translate this graph down 2 units.





Graph the new line.





Write the new equation.

2.   y = (1/2)x – 3
Translate this graph up 4 units.





Graph the new line.





Write the new equation.

3.    y = -2x + 6

Translate this graph right 2 units.





Graph the new line.





Write the new equation.

4.     y =3x + 1                 Translate this graph right 2 units.





Graph the new line.





Write the new equation.

5.     y = -1/3 x - 3
Translate this graph right 2 units.





Graph the new line.





Write the new equation

1.  



                                 2.



  



3.                                                          4.

5.


y = mx +b

This is called the Slope-Intercept form of a linear equation.

QUESTION:

What is wrong with these equations?


y +2x = 3  

6x - 2y = 4

y -7 +5x = 9



ANSWER:




  We need Slope-Intercept form.





y = 

SOLVE FOR Y means “get y by itself.”

y + 2x = 3

  

   – 2x         –2x
        y =   3 – 2x

and then   
 y = -2x + 3 


Your goal is  
y = mx + b

Step 1: MOVE the mx term to the right side of the “=”  by adding or subtracting it.

Step 2:  REARRANGE terms on the right side.  Put the linear term first plus or minus the constant

Step 3:  DIVIDE by the coefficient of y.

Step 4:  SIMPLIFY and reduce fractions

Write  in Slope-intercept form.


-4x + 2y = 8





6y + 18x = 6

Example 3  Write 33x - 11y = 99  in Slope-intercept form.

Standard Form of  Line

Another linear form that’s important is what is commonly called standard form. It looks like this: Ax + By = C. The way we turn standard form into slope-intercept form is simply by solving for y. Let’s practice that. Change the following into slope-intercept form.

1) 3x + 4y = 8             2) 5x – 7y = 21                3) 4x + 3y = 7

4)  
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[image: image52.wmf])

8

(

4

3

2

+

=

-

x

y

            10) 
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Solve for y

1.)  
[image: image54.wmf]3212

xy
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2.)  
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xy
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3.)  
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4.)  
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6.)  
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Name _________________________      Period _____
     Date __________

Solving for Y Worksheet

1.  y – 2x = 1



2.  4x + y = 4


3.  –x + y = -8 

4.  3x – 5y = 10


5.  2x + 3y = 18

6.  –x + 4y = -8

7.    4x + 5 + y = 5

       8.  3x + y - 2 = 3x + 3
            9.  10x - 5y + 6 = 6

10.  6 - 2x = 18


11.  4x + 4y – 36 = -12





[image: image68.emf]
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Name: 

I. Graph each of the equations written in standard form..

1.  2x + 3y = 6






2.  5x ( 2y = 10


3.  x ( 4y = 8






4.  3x + 4y = 12



5.  2x ( 3y = 9





6.  x + 8y = (16


                                                                                              
7.  3x ( y = 6






8.  4x + 7y = 14





Writing Equations given point and slope
[image: image70.emf]
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Writing Equation of A line Given a Point and a Slope Notes

[image: image72.emf]
Special Cases…
Slope:    Zero     Point ( -2,3)                                                                         Slope: 3     Point ( 1,4)

Writing Equation of A line Given a Point and a Slope Notes

Write the equation of the line and then graph it.


1. Slope: 2     Point ( 3,4)

2. Slope: 3     Point ( 1,4)

3. Slope: 4     Point ( -2,3)
4. Slope: 1/2     Point ( 6,2)


5. Slope: -3/2     Point (4, 7)


6.  Slope: 5/2     Point ( -2,6)


7. Slope: 1/2     Point (6, 4)


8. Slope: 2/5     Point (5, 5)


9. Slope: -8       Point (1, 2)


10. Slope: 1/2       Point (4, 11)
Writing Linear Equations From Two Points Notes

Given the following points, (0,–8) (4,2), determine the equation of the line 

Given the following points, (-4, 1) and  (0,2), determine the equation of the line 

Given the following points, (-4,3) (2,1), determine the equation of the line 

Given the following points, (4, -5) (5,-2), determine the equation of the line 

Writing Linear Equations From Two Points Practice

Write the linear equation.

1.
(0, 5) and (2, 9)




2.
(-2, 16) and (3, 1)

3.
(2, 4) and (5, 4)




4.
(1, 6) and (-2, -18)

5.
(2, -3) and (-2, -5)




6.
(3, 2) and (3, 6)

Finding Slope Given Two Points


Name___________________________

Homework






Date__________________ Period ____

I. Determine the slope of the line that passes through each pair of points. Graph the line and write the equation.

1.  ((3, 1) (2, 5)
2.  (( 4, (2) (0, 0)
3.  (2, 3) (5, 1)

II. Determine the equation of the line that contains the following points and or slope.

4.  (2, 3)  (9, 7)
                                         5.  ((3, ( 4)  (5, 1)
                               6.  (4, −2); m = 
[image: image73.wmf]4
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7.  ((5, 4)  ((5, (1)
8.  (5, 7)  ((2, (3)
9.  ((2, 3)  (8, 3)

10.  (1, 6); slope = 3

            11.  ((5, 9); slope = undefined                 12.  ((6, (2); slope = 
[image: image74.wmf]2
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-


)

Write equations of the horizontal and vertical lines that pass through

13.  (3, 7) 
                                           14.   ((1, 10)          
                           15 .   (7, (4) 

[image: image75.emf]
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[image: image77.emf]
[image: image78.emf]
[image: image79.emf]
Linear Equations

Write the equation of the line and then graph it.


1. Passes through (–4, 2), slope of –[image: image80.wmf] 

1

3



2. Passes through (–6, –8) (–3, 2)


3. No slope, passes through (–1, 2)

4. Zero slope, passes through (4, –3)


5. Passes through (6, 7) (–2, 7)


6. Passes through (–3, 4) (–3, –5)


7. Slope of 4, passes through (2, –3)

8. Zero slope, passes through (–1, –2)


9. Passes through (4, –2), no slope

10. Slope of 
[image: image81.wmf]2

3

, passes through (6, 2)

Finding Slope Given Two Points


Name __________________________

Activity






Date ________________ Period _____

How can you find the slope of a line if all you know are two points on the line?

Horatio recently signed up with an Internet provider.  He knows that there is a basic monthly charge and an hourly rate depending on how many hours he is connected during the month.  The first month he was connected for 5 hours and his bill was $25.00.  The second month he was connected for 8 hours and his bill was $31.00.  He has forgotten what the hourly rate is.  


1. What ordered pair shows the cost for 5 minutes?
2. What ordered pair shows the cost for 8 minutes?

3. Identify the slope.  What does it represent in this situation?  
4.    Write the equation in slope- intercept form.
Writing Linear Equations Given 2 Points
Name __________________________

Activity






Date ________________ Period _____

1. 
After flying at a constant altitude, a pilot decides to zoom upward.  The graph shows the change in altitude each second.

a.
What ordered pair shows the altitude at 


2 seconds?

b.
What ordered pair shows the altitude at  


10 seconds?
c.
Identify the slope.  What does it represent in this situation?  

d.
 Write the equation in slope- intercept form.

e.
Identify the y(intercept.  What does it represent in this situation?  

f.
After how many seconds will the altitude be 13,000 feet?

g.
What will the altitude of the plane be after 30 seconds?

2. 
A man whose foot is 12 inches long wears a shoe size 12.  A man whose foot is 10 inches long wears a size 6.  Write an equation of the line.

     point (          ) 

slope = ________ 
y(int = ____________

     point (          )



   equation _________________________


3 .
Blood pressure tends to increase with age.  Suppose the normal blood pressure of a 20 year old is 120 and that of a 50 year old is 135.  Write the equation of the line.

a. Identify two points on the line that represents this situation.

b. Identify the slope.  What does it represent in this situation? 

c. Write the equation of the line.

d. Identify the y(intercept.  What does it represent in this situation?  

e. What is the blood pressure of a 30 year old?

f. How old is a person with blood pressure of 140? 

4. 
Biologists found that the number of chirps some crickets make per minute is related to the temperature.  When crickets chirp 124 times a minute, it's 68(.  When they chirp 172 times it's 80(.  Write the equation of the line.

     point (         degrees,          chirps)


slope =  _________ 
y(int = __________

     point (         degrees,          chirps)


equation ________________________

a. . Identify two points on the line that represents this situation.

c. Identify the slope.  What does it represent in this situation?  

d. Write the equation of the line.

       e. Identify the y(intercept.  What does it represent in this situation?  

5. Bob is depositing the same amount of money each week into his account to save for an iPod.  After five weeks he has $75 and after eight weeks he has $135.  Identify the two points given and find the amount of money he deposited each week.  The amount of money he deposited each week is the rate of change.

6. Mary Ellen was confused by her cell phone bills. The first month she was charged $34.25 and the second month she was charged $43.50.  After reviewing her statements, she realized that during her first month of service, she exceeded her text message plan by 17 messages and the second month by 54 messages.  Identify the two points given and find 
the cost for each additional text message.  

Linear Equations: Extra Practice

Name 







Homework






Date  



 Period 
 

For 1 ( 6, write the equation of the line in slope-intercept form with the given information.

1.  m = 6 and b = 7                      2.  through (6, 8) and (4, 2)               3.  m = 6 and through (10, 2)

4.  through (4, 3) and (2, 2)      5.  m = 8 and through (8, 4)              6.  m = 8 and y(intercept = 9

7. 
The math club signs up new members every week.  After 3 weeks, there are 36 

            members.  After 6 weeks, there are 45 members.

         
a.  Write the equation of the line.

         
b.  Identify the slope.  What is the meaning of the slope?


c.  Identify the y(intercept.  What is the meaning of the y(intercept?


d.  How many members are there after 14 weeks?

         
e.  How long will it take to have 60 members?

8.  
An overseas phone call has an initial fee of $3.75 and each minute cost $1.50.


a.  Write the equation of the line.


b.  Identify the slope and the y(intercept.


c.  What is the meaning of the y(intercept?


d.  What does a 47(minute call cost?


e.  If the call cost $57.75, how long was the call?

9.       Mary put holiday lights on her house.  She noticed each week 7 lights burned out.

          After 8 weeks, she only had 44 lights burning.

          a.  Write the equation of the line.

          b.  Identify the slope.  What is its meaning?

          c.  Identify the y(intercept.  What is its meaning?

          d.  After 9 weeks, how many lights are burning?

          e.  How long will it take for only 65 lights to be burning?


10. 
 Write the equation of the graph:

     
a.  
slope(intercept form        
 b.  
standard form

Activities

What’s the Point?
Graph and label each line having the given slopes and points.


[image: image82.wmf]


  Point
  Slope

A.
(1, 1)                      
1

B.

(–1, 3)
[image: image83.wmf] 

1

2


C.

(2, 0)
-1

D.
(─8, 2)
.2

E.

(2, –4)
[image: image84.wmf] 

1

3


F.

(0, –2)
-2

G.


(–2, 0)


     3

Name____________________________________Date________Period __________

Exploring Changes in m and b Activity

The slope-intercept form for a linear equation is  y = mx + b.  The coefficient of x and the constant have a special role in graphing a linear function.


1)  y = x is graphed for you.  This is the parent function.

On the same grid, graph the following in different colors:


Graph  y = 2x  
Graph 
[image: image85.wmf]1

2

yx

=


How does the “2” change the graph?




How does the “
[image: image86.wmf]1

2

” change the graph?



What is the role of the “m” in y = mx + b?







2)  y = x is graphed for you.  This is the parent function.

On the same grid, graph the following in different colors:

Graph  y = -x 
Graph y = -2x
       Graph 
[image: image87.wmf]1

2

yx

=-


How does the “-1” change the graph?




How does the “-2” change the graph?



How does the “
[image: image88.wmf]1

2

-

” change the graph?



What is the role of the “m” when it is negative in y = mx + b?





3)  y = x is graphed for you.  This is the parent function.

On the same grid, graph the following in different colors:


Graph  y = x + 3
Graph y = x - 3
How does the “+ 3” change the graph?




How does the “- 3” change the graph?



What is the role of the “b” in y = mx + b?








Without graphing, make a prediction on the appearance of the graph (in comparison toy = x) of the following.  (Is the graph translated above or below the graph of y = x?  Does it have a positive or negative correlation?  Is the graph steeper or more shallow than the graph of y = x?)

	Equation
	Translation: Up/Down
	Correlation: Positive/Negative
	Steeper/Shallow

	4.      [image: image89.wmf]=-+

y43x


	
	
	

	5.      
[image: image90.wmf]3

5

2

yx

=+


	
	
	

	6.      [image: image91.wmf]=-+

y2(x3)


	
	
	

	7.      x + 2y = 6
	
	
	


Find a rule for each set of data.   Just by looking at the table, make a prediction on the appearance of the graph (in comparison toy = x) of the following.  (Is the graph translated above or below the graph of y = x?  Does it have a positive or negative correlation?  Is the graph steeper or more shallow than the graph of y = x?)

8.
a. (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	0

	1
	1
	
	1
	4

	2
	2
	
	2
	8

	3
	3
	
	3
	12

	4
	4
	
	4
	16


Rule ____________________


Rule ____________________

Prediction:

9.
a. (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	11

	1
	1
	
	1
	10

	2
	2
	
	2
	9

	3
	3
	
	3
	8

	4
	4
	
	4
	7


Rule ____________________


Rule ____________________

Prediction:

10.
a.  (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	3

	1
	1
	
	1
	5

	2
	2
	
	2
	7

	3
	3
	
	3
	9

	4
	4
	
	4
	11


Rule ____________________


Rule ____________________

Prediction:

Name__________________________________Date________Period __________

Exploring Changes in m and b Practice
Find a rule for each set of data.   Just by looking at the table, make a prediction on the appearance of the graph (in comparison toy = x) of the following.  (Is the graph translated above or below the graph of y = x?  Does it have a positive or negative correlation?  Is the graph steeper or more shallow than the graph of y = x?)

1.
a. (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	-4

	1
	1
	
	1
	-3

	2
	2
	
	2
	-2

	3
	3
	
	3
	-1

	4
	4
	
	4
	0


Rule _____y = x___________


Rule ____________________

Prediction:

2.
a. (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	0

	1
	1
	
	1
	-3

	2
	2
	
	2
	-6

	3
	3
	
	3
	-9

	4
	4
	
	4
	-12


Rule _____y = x___________


Rule ____________________

Prediction:

3.
a. (This is the parent function.)


b.

	x
	y
	
	x
	Y

	0
	0
	
	0
	-5

	1
	1
	
	1
	-2

	2
	2
	
	2
	1

	3
	3
	
	3
	4

	4
	4
	
	4
	7


Rule _____y = x___________


Rule ____________________

Prediction:

4.
Describe the change that occurs when the graph of y = x + 2 is translated to y = x – 5.

5.
Describe the change that occurs when the graph of y = x is transformed to y = 5x.

6.
Describe the change that occurs when the graph of y = x is transformed to 
[image: image92.wmf]1

6

yx

=

.

7.
Describe the change that occurs when the graph of y = 2x + 3 is transformed to 


[image: image93.wmf]1

3

2

yx

=-+

.

8.
Where do the graphs of y = 3x and y = 3x + 4 intersect the y-axis and what is the relationship between the two lines?

9.
Give an example of two lines that are parallel and cross the y-axis 6 units apart.

10.
Give an example of two lines who cross the y-axis at the same location, but one is steeper than the other.

Starburst


[image: image94.wmf]10
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10
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Draw lines having the given slopes on the grid below. Each line should go through the origin, and should be labeled.

a. 
slope is 0


g. 
no slope

b.
 slope is [image: image95.wmf] 

1

2




h. 
slope is –[image: image96.wmf] 

1

2


c. 
slope is 1


i. 
slope is –1

d.
 slope is 2


j. 
slope is –2

e.
 slope is 5


k.
 slope is –5

f. 
slope is 10


l. 
slope is –10

[image: image97.emf]
[image: image98.emf]
[image: image99.emf]
[image: image100.emf]


Graph each of the following lines as indicated by your teacher.  Draw the lines to the edge of your graph paper.  When you are finished, neatly color the sections to make a stained glass window design.

1.  
[image: image101.wmf]y

x

=

-

-

1

2

4







7.  
[image: image102.wmf]y

x

=

-

+

1

2

4


2.  
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x

=

+

3

2

12







8.  
[image: image104.wmf]y

x
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3

2

12


3.  
[image: image105.wmf]y
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12








9.  
[image: image106.wmf]y
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-

12


4.  
[image: image107.wmf]x
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10.  
[image: image108.wmf]y

x
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2
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5.  
[image: image109.wmf]y
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4







11.  
[image: image110.wmf]y

x

=

-

3

2
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6.  
[image: image111.wmf]y

x

=

-

1

2
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Tape/Glue your stained glass window to a sheet of colored construction paper.  You will be graded on the accuracy of graphing the lines, and the neatness & creativity of your coloring.
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Writing Equations of Lines Tio-Tac-Toe
\Chaose three problems in a row to form a tic-tac-toe. Show al work.
Write the equation of the line | Wite the equation of the line | Wiits the equation of the line

passing through the points (5, 7) | passing through the point (-9, 8) | passing through the point (-2, 3)
and (6, 8). with a siope of 0. with a slope of 4,

Wiite the equation of the line | _ Write the squation of aline | Write the equation of f1e T
passing through the point (4, -2) | passing through the point (6, 4) | passing through the points
with a siope of 0, < ) (3,6)and 3, 6)
with a slope of

Wite the equafion of he Tive | Wie the equation of the ne | Wiita the equaion of e s
passing through the point (5,-2) | passing through the paints | which passes through the point
winasopeor (11, 7)and (9,3) (7,12) and m is undefined





Y = 2x – 3          
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Y = 2x + 1          
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Slope : 





Y- Intercept: 





Y = � EMBED Equation.3  ���x + 5          
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Slope : 





Y- Intercept: 





Y = -� EMBED Equation.3  ���x - 2
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Slope : 





Y- Intercept: 





Y = � EMBED Equation.3  ���x +  3          
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Slope : 





Y- Intercept: 





Y = � EMBED Equation.3  ���x - 4          
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            Y = � EMBED Equation.3  ���x  -  2          








            Y = -2x  +  5          
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2.   Y = 2x -3          
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3.   Y = 1/2x + 2          
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1. Y = -2x + 3          
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Slope : 
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2.   Y = 3x - 2          
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Graph the relationship on the grid





      b.  What is the slope of the line?  What does


           it represent in this situation?








 What is the y(intercept?  What  does the  y(intercept represented in this situation?








Write a linear equation to represent this information.








If the club needs to raise $1500,  How many


cakes do they need to sell?








Graph the relationship on the grid





     b.  What is the slope of the line?  What does


           it represent in this situation?








 What is the y(intercept?  How is the  y(intercept represented in this situation?








Write a linear equation to represent this information.








e. How many answers does she have to get correct to earn $34?





y





x





Graph the relationship on the grid





     b.  What is the slope of the line?  What does it represent in this situation?








 What is the y(intercept?  How is the  y(intercept represented in this situation?








Write a linear equation to represent this information.








If you budget $500 for your dental cost, how many times can you see the dentist ?








Graph the relationship on the grid





     b.  What is the slope of the line?  What does


           it represent in this situation?








 What is the y(intercept?  How is the  y(intercept represented in this situation?








Write a linear equation to represent this information.








If Sally spent $23, how many games did 


      she bowl?








y





xx





Graph the relationship on the grid





     b.  What is the slope of the line?  What does


           it represent in this situation?








 What is the y(intercept?  How is the  y(intercept represented in this situation?








Write a linear equation to represent this information.








If Lauren spent $115, how many hours did 


Was she charged for?
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Time (hr)





Total fee ($)





time1   5





$25.00  cost1





8 time2 ti    time2  8





$31.00  cost2
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Plane’s Altitude over Time





Altitude (height in thousands of feet)





Time (in seconds)
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Y-INTERCEPT





SLOPE





Step 1:  Move the mx





Step 2:  Rearrange





Ahw Snap! Your done when it looks like: 


y = mx + b


m = -2   	and  		b = 3





Example 2  





Example 1  


























�








PAGE  
88

_1150096546.unknown

_1381164871.unknown

_1381166591.unknown

_1381683516.unknown

_1415545169.unknown

_1415546302.unknown

_1415546374.unknown

_1415545234.unknown

_1381683680.unknown

_1381683724.unknown

_1381683603.unknown

_1381683489.unknown

_1381683504.unknown

_1381213447.unknown

_1381166560.unknown

_1381166583.unknown

_1381166549.unknown

_1230046223.unknown

_1381164750.unknown

_1381164830.unknown

_1381070780.unknown

_1381070860.unknown

_1381164721.unknown

_1381070834.unknown

_1381070722.unknown

_1184849950.unknown

_1211872203.unknown

_1230046199.unknown

_1211872204.unknown

_1184850298.unknown

_1184850330.unknown

_1184850147.unknown

_1184849784.unknown

_1184849888.unknown

_1184849767.unknown

_1125722602.unknown

_1128104623

_1128105318

_1148123484.unknown

_1148123686.unknown

_1128105365

_1128105157

_1128105189

_1128105232

_1128104751

_1128104789

_1128105088

_1128104674

_1128104722

_1125722789.unknown

_1125722837.unknown

_1125722857.unknown

_1125722813.unknown

_1125722697.unknown

_1125722715.unknown

_1125722642.unknown

_1125722506.unknown

_1125722562.unknown

_1125722583.unknown

_1125722541.unknown

_1125722472.unknown

_1125722489.unknown

_1116738740.unknown

_1116746430

